that they all result in zero.

_ aloss of 6 yards
___again of 9 yards

____ two runs for 5 yards each

___quarterback is sacked for 8 yards

SHOU \‘JOUR WORK AND DO YOUR BEST!

1. Noah has mixed up the stat sheet from the football game Friday. Match the different situations so

A.two quick passes that gained 4 yards each
B. a loss of 10 yards

C. the ball is run 6 yards

D. a fumble for a loss of 9 yards

2. Label the number line with the appropriate
equation.
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3. Use the number line to model the problem
below:

5+3=-2

-5 -4-3-2-1 012 383 4 5
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